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Topic:- Child Development & Pedagogy (CDP)

1) According to the theory of cognitive development, the concrete operational stage starts at age . | FAETCAS e
¥ Ruia ¥ IqaR, 7q7 whrarcas saear 37 & U gt B

1.5
2.1
3.3
4.7

Correct Answer :-

.7

2) Which is vast in scope? / fawst # & #la-a1 F1& &7 # a9+ 32
1. Teaching Strategy / fRieTor ToTehifay

2. Teaching Tactic / f&tor gfeh

3. Teaching Technique / fI8T0T Tehetien

4. Teaching Method / fRrgToT fafr

Correct Answer :-

« Teaching Strategy / f&ToT IoTfcl

3) IEP is the major form of instruction. / 3TSEM, 3@?{?[ T IHE T 2l
1. peer-tutoring / Tgwal RAeTH

2. Individualized / S TRepet

3. Identification / UgdTlel

4. Assessment / 3Tcheled

Correct Answer :-

« Individualized / darfthepet

4) What is the term used to denote the rules involved in putting a sentence together? / d&I FI TFH AT @A F wiEAfOT A9AT & AT
F & QU FE 9g &1 39Aer Ry amar §2

1. Telegraph /é?ﬁ‘JITEE

2. Morpheme / ®TUH

3. Syntax / AT - =g

4, Nested structure / w¥¢s TXGeAT

Correct Answer :-

. Syntax / 91T - fA=amd



X-ray radiation is attributed as the main cause of _____ disorder. / - fAfEor H - PR & HET SROT F T H TFRER SedT STl %‘I
1. Mongolism / Afealfeleat

2. Cretinism / Simae

3. Hydrocephalus / STerefi§

4. Microcephaly / Hg?ﬂ'ﬁ?ﬂ

Correct Answer :-

« Microcephaly / ﬂ'g?ﬁﬁ?ﬂ

6) Motivation is a state. / WO TH ufa &

1. Psychological / #A=A®

2. Physical / #ifa®

3. Natural/ UTpfcieh
4, Broken / @fsd

Correct Answer :-

» Psychological / AAGAS

7) Causes for learning disability is: / R HETHAT FT FROT T B
1. Premature birth / HHI § f[<5' Sled

2. Malaria / Felam

3. Class room environment / <h&IT <hl 3?]%1(7[

4. Developmental problems / fa&m Feeh THRTT

Correct Answer :-

« Developmental problems / fa&m Heth TH=TT

8) Which of the following is not a characteristic of authoritarian parenting? / fFafaf@a & ¥ slF-ur FIVATFIE qraA-dyor Fr AT
g

1. Highly punitive / 37caTd® &alcHd

2. Rigid / @R

3. Demanding of obedience / 3TTRITRIRAT &hr AT

4. Provision of explanations for punishments / Tl & folw TUEIRIOT &7 grayr

Correct Answer :-

« Provision of explanations for punishments / TSI & forT TAEIHIOT HT1 graered

9) Which of the following is not a type of long-term memory? / &1 & & HlA-M v yHR A Hd-Frfas Fﬂ_ﬁ' & 22
1. Procedural memory / UfhTcdsd TR

2. Episodic memory / Rif3Teh Tagfc

3. Semantic memory / 37T F{ﬁ

4. Echoic memory / Ufdeafaa Eafa

Correct Answer :-

« Echoic memory / Ufdcafaa &xfa



10) Which of the following is not a substage of Piaget’s sensorimotor stage? / RF=rfaf@d # ¥ wla-ur s F segaafag e saear
3YNGEAT g §?

1. Secondary circular reaction / 0T g aaﬁh—m
2. Reflex activity / Hgol afatafey

3. Primary circular reaction / WT&fde CRIE H?jﬁ;mﬂ

4. Seriation / $hAIGAT

Correct Answer :-

« Seriation / hHAIGAT

11) Identify the qualitative change in child development from the following list. / fAFafa@T H::ﬁ A QT e & IOTTcHS qitadsr 1 ggue L
1. Weight / 951

2. Sight / ¥

3. Hair / dTeT

4, Teeth / &

Correct Answer :-

« Sight/ Tf¥

12) An aptitude test measures a child’s ./ U Q9gdT 908107 U =4 & & AGAT gl
1. Knowledge gained over the years / CB' ay & yrg AT

2. Skills needed to solve problems/wﬁf Gy Tl P & fow 3maTs Pl

3. Skills of critical thinking / 3TelIATcH® T &1 BRI

4. Innate ability to do certain tasks / S FAT B RS T &I

Correct Answer :-

« Innate ability to do certain tasks / S FHT P FA BT aTHAT

13) An effective way to combat stress in learners is by: / fRramfeiai # qaa A Aued &1 vy afier @
1. establishing routine / feeTaraT TATRIT T

2. postponing all large tests for end of the year. / Ty a3 TieTon & a¥ & 3id & for TIfa wwar

3. making strict rules / T&d TIH Ferelm

4. giving them the freedom to work whenever they want. / 3e& & AT PIHA I &l TG |

Correct Answer :-

» establishing routine / Tt Tafa &ear

14) Which experiment had shown that phobia could be created by classical conditioning? / & J=\T & gar Tam ? & Feonfasa FdhefAr ARt wfaar
Y1 R o war ¥

1. Dynamical systems / Tfciefier gomelt

2. Egocentrism/ 3T&dhgare (3Mafegsd)

3. Little Albert/ fofear sread

4. Epistemology/ STTHIANT (THCHTEAIST)

Correct Answer :-

« Little Albert/ ffeer 3rcac



15) The child is able to lift its head first before it is able to crawl. This is because of the operation of: /gHe & Tort qgel STET 39T A 3o+ & waH
ar ¥ a1 AR & WA & SROT g §:

1. Differentiation principle / Higa g

2. Integration principle / TehIerRoT TAGIA

3. Cephalocaudal principle / A%elihsel i

4, Proximodistal principle / SierdISEed Rgid

Correct Answer :-

« Cephalocaudal principle / helichse Rgid

16) The children will learn through as per Vygotsky’s theory. / agaicast ¥ Rguia & AR = F Aregw ¥ 3 FHE0
1. by observing / §& &

2. reading & writing / GgaR 3 forgew

3. society / HATST

4. through books / T&Teh & ATCIH &

Correct Answer :-
* society / HATST

17) The intellectual disability resulting from Phenylketonuria can be minimized through: / $elterdeRaT ¥ 3eqea Seftrs Raamrar st wyeraw frar s
LET IR

1. Social interaction / TATTSIR HUH
2. Classroom teaching / &&TT fRr&yor
3. Environmental factors / GATeRONT HRep

4. Progressive education / JaTfarefer fremm

Correct Answer :-

« Environmental factors / GaTaRofT HRE

18) When tests are given at the end of the semester, it is known as: / 3/q AT & 3id & qdator RE o §, A & =7 oaw &
1. Summative Assessment / TR JTehelel

2. Diagnostic Assessment / J&Tfeidh 3Theled

3. Interim Assessment / 3dR& 3Tehelel

4. Formative Assessment / JdTcdAD 3Tdheld

Correct Answer :-

« Summative Assessment / FRITAT 3Theled

19) When developmentalists study common changes that is typical to all humans, it is known as . / 519 AP THAE) AAT IREdAT T HETTd FId &, 3T
wft e & foe Rftre 3, drsa F T H AT AT

1. Normative development/ﬁ%wm fawrg

2. Ideographic development / HTdEHIh (3mEfzarafees) e
3. Informal development / 3eita=nies fasra

4. Formative development / 3iTaarikes faera

Correct Answer :-

» Normative development / 315? 5 fde™



20) Inclusive education aims to eliminate and ensure that all children get their right to get educated. / AT fﬂmmsa?w Fr
FATCd F 3R TE gARaa Feen @ fr wsft o= Ft 39F Rf@T @ 1 rfFR e a

1. Inequality / IHHATAT
2. Challenge /g?ﬁ%ﬁ

3. Problem / GHATAT

4, Differences / 3R
Correct Answer :-

« Inequality / 3IGHATAT

21) According to Orlich et al.(1985), which strategy fosters scientific thinking and the enhancement of student problem-solving skills? 3Rfera
Te 3@, (1985) & AR, -3 WA Igifae T ok B & TURAT &) ag_ & S S gerdl 82

1. Writing strategy/ o1& I0TAITc

2. Oral discussion strategy/ F&® =T fr ot
3. Task card strategy/ P F1E O

4. Visualization strategy/ T3 I0TATTr

Correct Answer :-

« Oral discussion strategy/ FlT&® @@ T IS

22) encompasses the idea of learning as an active process where those learning are able to form new idea based on what their
current knowledge is as well as their past knowledge. / TP afseg ufsear & 9 § S & faaR &1 '\‘lTIT%?T Dl % Fﬁ\f% A aret
3T THA T & FIY-91Y 37 IS 79 F YR R T =R 94 § & g 1

1. John Dewey’s theory on constructivism / f@ToTae W St 3d & Rgia

2. Lev Vygotsky’s theory on constructivism / AATOTaE W og argaicadT @ Rgid
3. Jean Piaget’s theory on constructivism / AaAvTaE W Sha R & Rgia

4. Jerome Bruner’s theory on constructivism / fA&ToTaTg o SR R @1 Rgra
Correct Answer :-

« Jerome Bruner’s theory on constructivism / f@ToTarg @ s S @1 Tgid

23) Educating special children along with the typically developing children in the regular schools is . / fFrafte e d s aR w®
faera=ita 7= & Qry-ary ARy g=i 1 Riféa s :fl

1. Individualized Education / Safaaa frem
2. Normal Education / GTdHTT 6T
3. Special Education / fadw fver

4. Inclusive Education / G#ATAILN 8T

Correct Answer :-

« Inclusive Education / GHATIL A&t

24) Which of the following is unsuitable for a kinesthetic learner? / fFafefad & ¥ F1H-T1 T Mfawad AfFMHat & fiw srguge 82
1. Providing them with opportunities to learn through activities. / 3=¢ IIfATATATT & FATCTH T HTAIH HT AT USTH HLAT|

2. Participation in field trips, drama, dance etc. / av HAUT, ATCh, Fj_FJ}ﬂﬁ(ﬁ HTIT ST

3. Using concept mapping method for teaching. / 3191 & forw 3rauRoT AR g 1 SUFT AT |

4. Using problem solving method for teaching. / fR1&ror 3 fore T gwmem fafd &1 Iught w5



Correct Answer :-

« Using concept mapping method for teaching. / 31fQ918T & forT TaURUT AT FRITOT g T ST =T

25) Which of the following is not affected by socioeconomic status? / AFafaf@d & ¥ sia-ar o s Rufa ¥ venfaa 7€ arg?
1. Choice of neighbourhood / usig i ude

2. Quality of schooling / el &I &7 BIMES]

3. Gender / foraT

4. Nutrition / GI¥oT

Correct Answer :-

« Gender / Toidr

26) Which of the following is not a characteristic of explicit memory? / faf@a & @ sia-d Tose F{ﬁ #r fayar Frﬁ %?
1. Unconscious / 3=1d

2. Intentional / gfa=nfia

3. Awareness / STTIT&DAT

4. Recollection / FFROT fh

Correct Answer :-

« Unconscious / 31ad

27) Theory of connectionism was proposed by: / TaoaTe 1 Rigid ?Fﬁ? RT YTt far T T
1. Skinner / e

2. Tolman / &Y

3. Pavlov / UTdelid

4. Thorndike / IfSh

Correct Answer :-

e Thorndike / ¥ CIEE]

28) Children can recognize themselves as whether they are a boy or a girl, at the age of ./ Pt g ¥ 9= WU B UgdH qPhd ? b
g TSP & U1 ASHI

1. Five years / ug 9§
2. Four years / X ag
3. Three years / e a¥
4, Six years / € a8

Correct Answer :-

« Three years / il a&

29) Who discovered classical conditioning which is a learning process governed by associations between an environmental stimulus and another
stimulus which occurs naturally? / fFaa Ffsd HARART A @ A AN v DR 3T 3R vF 377 ] F fiT
TR ganT gaifed o sfter it ufkar ¥ Y wnenfaE w @ e ¥

1. Edward Thorndike / Tsa$ 211?‘['513?5
2. Ivan Pavlov / Zai grdelia
3. Wolfgang Kohler / aiewaian Higer



4. Jean Piaget / S foamst

Correct Answer :-

o Ivan Pavlov / Zaid Ur@eid

30) Attention is the process of consciously focusingona ./ 3Gl (841) @A ¥ & W €4 Fga & f afkar B
1. Behavior / cIdgR

2. Stimulus / 3ZA

3. Body language / T $7fvam

4, Reaction / ufafepar

Correct Answer :-

« Stimulus / 3810

Topic:- General Hindi (L1GH)

1) AT G AN & R Ry & 3rert @y g1 &1 < ara foreft ves safe & R Ry 21 Il @ 9 fell g & R oY Ry 2t g ol -1t | Sereror & o
fralt 3w &1 Frafor ves STl ¥ R AP 81 godr 2, afhT a8t 37 39 @M & ol fI-mrert Wi gar 2 g 39 39 ¥ $adic wivar & Free iy fsar sirar
B T e A F R FyTay F} 3rerT SrenT v g 81 3 wevdl 39 ey # Rl &Y aRfRufa & srqam gt }1 Sarerur & R st R aoret & wiia & vt
TS STt F R Tast WS BT a1 9B & APar 81 96t gl 3R, el a1 gras o Te ara el aeit & frd A Yot 91 TRIia T 91T 3T &) Apat 1
39 e @ Ao & T A&7 F1 wewd usdl & R oiftre & 3iftre @il &Y wrael uga 9% |

ufa i oma: Pt A= B o 3ma F! a8T P ST F YN 37 W S A et & 3@ i aafdd oma wed €1 af 2006 Tt Ay e KU & AR yra & ufa
T AT 3T 28,000 TTA 21 Tl 31 A Sanfed T oM o THa AL SIS Fed ¢ | fpeft 321 # Ieurfea gar oma & A Frafa @ 917 areh 3ma &1 v & a1g
S TUT § 9 B WY IUTG Bed @ | Ui 1000 9H H U TTe B S I Ugd HA a1 I 31 H=M H1 R Tog &R Fed ¢ 1 9 SiwsT e w4 8 e &
TP | I G SIS HIAT A1 31 U6 TP Wew@yqul AT 8 T T4 vl 3u1 # Suerey Ty GRaursh 9 Turar o SuTeudr ST uaT gerdl 8| 99 2011 3
STV & 3JER YIRd # I 97 2 30.15 81 T¥Y 3R Uem &1 3urd: Ui g9k YT &Y g & Aikarsit &t Ien &Y AT 3urd oed 21 afe 98 sifwst o0
ﬁg%ﬁwmﬁu%m&ﬁ%@wwﬁanﬁﬁwaﬁmélatfzoua%ww%amwmaﬁﬁhmuﬁmgvﬁaﬁmﬁ%onﬁm&ﬁ
Eakd

I TR P UgHR 19 TS T Y= BT Sk qaA1gC|

u=: af 2006 B 3y fyera RUiE F guR YRa § wfa afe qramT omg e 82

1. 28,000 TG

2.30,000 ¥Tq¥

3. 35,000 F4A

4. 25,000 ¥9I

Correct Answer :-

« 28,000 ¥

2) ST SERT ARN & R AT & e 98y gia &1 7Y 91d it uop aafery & R R 8 wapdl! @ 9 el g & R oft faeem Y ug ol 8| Semevur & ol
it 39 &1 fAfor v Seimufe & R faer 8 Joar €, AP 98! 39 39 @l & R faarwreT anfaa giar @ R 99 3w & Fadie ufvar I fAseifra fear simar
1 e S T & R FIwT B e SrenT wved gidl 81 3 Sevd 39 afed 3 foigilt 31 aRfRAf F R gt 81 Sererur & R it gr 1wt & wiig & wg9
I St & R yaat WeH BT a7 BT 7 Twar 81 98 gt o, feceht a1 grad A Te arat feft et & frd A Yot 91 TRINNIA T ST T B Aapar 21
39 WE A AR & T 769 B oo usdl & o ifre @ i ainil &) wraer uga 9% |

ufy safds oma: fell 31 &Y ot oy H1 TT B T | URT 37 TR <A1 fRy Pt B S ufar =i ama wga €1 o 2006 FY Ay ey R F ogar uRa & ufy
R AT 3T 28,000 TU 31 et 3z1 & SNfed T oy HF TFHa AP SIS Fgd 7| [l 32 & Ieurfed T oma & F Frafa @ 99 aret oma 1 v & a1g
S 99T @ I8 AP d W SIS Fed 81 U 1000 570 T U 0T 3t 3W A Ugd ARA 918 gl F1 T B R 9 R Fed €1 98 st a1 o0 8 e &
ERHI0T I AT & 3BT HIAT ST 7 | U§ U gedyul THIAT & TP 309 fmadt 31 A Iucisy warey Giyerait 3 qurawr SR Sucreudr &1 Ut gerar g1 9 2011 FF
SIUMAT & AR URd B 3] g7 o) 30.15 31 [V 3R AT T SuTa: Ui g9k qoul @t go-n & afgarsi &1 wen o {7 srurd wed 1 afe ag sifwet +1
z\;r%%eﬁuemﬁﬂfém&ﬁ?@wwwﬁawmﬁmaﬁm%laﬁzouaﬁmmm%arﬂwnmﬁfﬁﬂaﬁmauﬁmgvﬁaﬂmﬁmom&ﬁ

I

SULEH TR B TGP A2 [D Y U BT I@R Ty

UL A ¥ 3R THAIRIA BT 1Y, G U A {57 freran @2
1. TTHNTT FATF AT Y

2. UETET $cllch dTal ar

3. 591l F W& arelt



4. 9% AT F AafEr @
Correct Answer :-

o T3 R & fAartaEr @y

3) SIERT 3ERT ARN & R fRAPTH & e 987 gia &1 Y 91d it U aafey & R R 8 wapd! @ a8 el gk & R oft e 8 ug o=l 98| Seevur & o
it 37 &1 fAfor oo SeiTufa & oA AT 8 Toar €, Afp a8t 39 39 @l & R farwreT nfaa ghar @ 7 99 8u & Fadic uivar 3 fseifra fvar simar
B1 e e N & R fIwT B SraT SrenT wRevd Bidl 81 9 Sevd 39 i 3 it 31 aRfRIf & SR gt 81 Iererur & R ot gr 1w & wiig & wg9
S et & R yast WeH BT a1 [IBT 8 Pl g1 96 gt o, el a1 gras & T arat fpedt aeht & ford A Yot 91 ToRIOIa T 91T o1 81 AapaT 1
39 9E @ o™ & T deg F1 wiewd usdl @ R aiftre & siftre @it &) wrael uga 9% |

Ui afds oma: Tl =1 &Y ot Sy F1 TT B FHHTT |/ URT 37 TR 1 fy Fhrerelt B S ufa =i ama wga €1 9 2006 F Ay ey RO F ogaR URa & ufa
HfRT AT 3T 28,000 ¥ 71 et A A ST o1 3y B e W ITg Fed 71 et I A Sanfa wor oma F | Frafa @ 99 areh sma Y wem F g
Sl AT § 99 Tehel B IS Hed &1 Ui 1000 S0 T Ueh ATl B 99 & Ugal WA a1l o] Bt T B RIY Yo ) B &1 98 Sipst fora1 o4 g1 v &
Ef¥wior & I &t ST AT SI1AT B 1 I8 TP HEqul T @ R su fheh 3w A Suasy warea gaursi #Y qoraw 3R Sudsar &1 udr gadr 31 af 2011 @t
SIUMAT & AR YR B fIY] o7 o) 30.15 B [V 3R Wi T 3uTa: Uia g9k Goul &t gor-1 & afgarsi &1 wen o 7 srurd wed 1 afe ag sifwer a1
?ﬂwﬁ%ﬁwmﬁﬂ%ﬁaﬁ%@wwﬁauﬁﬁmaﬁm%laﬁzonaﬁwwm%ammﬁﬁwwuﬁmwﬁaﬂmﬁmouﬁm&ﬁ

I

IR TR P UgHR 19 T T Y= BT Sk T3¢

UR: IR B TR GrAurait F qoran 3R ST ST uar fHad Terdr 82
LAY G T &

2.5 § P$ A

3. 375 I B FEA

4.935 99lc &

Correct Answer :-

4) 3eT T AN F o famra F orert e B1a €1 < 91 Tl ve wfds & o i 8) wandt © 9 fnelt gk & o oft farar @) g w_edt =1l | Sareror & R
fpeft 39 &1 Frfu U SEivufa & R faeTa &) wodr 8, dfe adl 30 37 |l & R e R aifdd giar @ e 39 34 & $udie uhar § Fren iRia far siar
B AT T A F R FypTay F} 3rerT SrenT wievd g 81 F wevd 39 ey # Rt oY uRfRufa & 3w it 71 Sarerur & R st @R goret & wiia & v
T 3Tt F R Tadt WSH BT a1 9B &) APar 81 96 gadl 3R, el a1 gras # e ara el ameht & frd A Yot 91 ToRTia T 91T faoT &) Apat 1
39 e ¥ AP & U4 A&7 F1 wewd usdl & R aiftre & 3iftre @il &) wrael uga 9@ |

wia afe oma: et 3 &Y pat Sma Bt I8T Bt AT T U 3 TR &Y 11 et @ 39 uf safe omg wgd €1 af 2006 # 3y e Raié & AR YRa § ufa
R ATETT 3T 28,000 ¥4 31 feft 3= & ScuTfea ot omy &t W Wk g Hed 3 | et 3 A Sanfed ot o # @ Frafa @ €9 areh sma it wem F ag
S o ¥ S Hhd WY IWTE $d ¢ 1 U 1000 S H TS A $T ST | UgA WA a1 I0] Bt TEH $1 RIY 7g R FEd T 97 siiwst R 79 g e &
Ef¥Ior & I € 3BT HFT W11 81 I8 U HEIYUl U § Flfeh 30 el 321 & Iuasy Tarea Jfaursi #Y qorawn 3R SUddr &1 uar gadr 8 | ad 2011 &t
STV & 3TER YA H I 9o 2R 30.15 81 T¥Y 3R URe &1 Surd: Ui 89k YT &Y g1 & Aikarsii &t Ien &Y 7T 3urd Bed 71 afe 98 sifwst o7
?ﬁa%%ahgwﬁnﬁmsﬁ%%wwﬁanﬂﬁwaﬁmélatfzouaﬁww%awmaﬁﬁhsmuﬁmgvﬁaﬁmﬁgmnﬁmsﬁ

I

IR T P UGN 1 TR Y T BT SR gy
U: Uqh] GSb a1 fb-1oh forg wd) 7ram & faera 22
1. T-&rst & ol & forw

2. AEPR afdat & fow

3. 919 ardl & fow

4. HE gt & o

Correct Answer :-

5) 3@ e | & o e & orent @157 81 €1 57t a1d bl o i & o R &) wordt @ ae foveft gav & o oft R @) 9 ot =1 | Serevur & Rl
fret 3u o1 fHufor uer SEvafa & R fawr g woar &, AfhT adt 39 39 @ & ol famRre st wifva gian & e 39 30 & Favie wivan 3 frepriia fean siman
B1 3T S I & R FIwTT B ST SrenT wvevd Bidl 81 9 Sevd 39 aafed 3 it 31 aRfRIf F R gt 81 Ieerur & R fnft gr 1w & wiig & vg9
S St & R yaat WeH BT a1 [IBT 81 Thar 21 98 gadt 3, et a1 gras & T arat fpeft aeht & ford A Yot 91 TRINNIA T 91T o1 g1 Aapat 1
39 e A e & TR 769 B oo Ul & O aifre @ i @il &) wraer uga 9% |

ufa safd oma: bl A= &Y T 3mg H1 AT I TR F YN A W S A et @ 37 ufa afdd omy w8 &1 af 2006 Fi fay few Ko & AR yra & ufa
HfRT AT 3T 28,000 ¥ 71 el A= A ST o1 9my B Hvw W STg Fed 7 | it I A Safed ot oma F | Frafa @ 99 areh s it wem F g
S 99T @ I AP d WY 3G Fed 81 Ui 1000 50 T U 0Td 3t 3U A Ugd ARA 918 gl 31 W@ B R 9o &R Fgd €1 98 AiwvsT a1 o1 g e &
EHOT A AT & 3BT AT ST 7 | U§ U Wgeayul THIT & TP 30 fmedt 31 A Iuaisy ey Giaemait 3 qurawr SR Sucreudr &1 uar gear g1 9 2011 FF
SIUMAT & AR YR B Y] 97 <) 30.15 B 1 [V 3R Ui T 3ura: Uia g9k qoul @t go-n & afgarsi &1 W o 7 srurd wed 1 afe ag sifwer +1



ﬁg%aﬁugmﬁﬂ%m&ﬁ%%wwﬁauﬁﬁmaﬁm%latfzonaﬂwwm%emmﬁﬁwsmuﬁrmgvﬁaﬁmﬁmouﬁm&ﬁ
R

IR TR FT UGHR T2 D Y IR BT IR IAs¢Y
UR: Ufd 1000 W ¥ UH A1 B SH A Ugd WA A1 gl B TS F1 FIT B8 82
1. Ry g X

2. 307G &
3. T g
4. TIER G W

Correct Answer :-

6) SIERT 3ERT ARN & R fAPTa & e 96y gia &1 Y 91d fonit U aufery & R fae 8 ol @ 9 fbelt g & R oft faemr Y ug oot 8| Semevur & o
forit 3w &1 fRfor v Seimufe & o faerT 81 Jorar €, Afp a8l S0 39 @i & R e anfaa ghar @ 8 39 3u & Fadic ufvar I w1y fear simar
B1 e I A F R AT B SraT SrenT oevd gidl 81 3 Sevd 99 i i it 31 aRfRUf F g gt 81 Sererur & R it gr 1wt & wiig & g9
Y St & R yaat WeH BT I BT B Thar 81 9 gt o, el a1 grad A ve arat fredt el & frd A Yot a1 TR T ST T g "epar 81
39 9XE ¥ I & T 7e7 F1 Siewd usdl & R afie & afie @i &Y wrael ugd 9@ |

wiar afe oma: ot 31 &Y et 3ima B TET Bt TR | U 7 TR &Y AR et § I uf sufe oma wga €1 af 2006 F fay e Raié & AR wRa § ufa

SafRT |TATT 3T 28,000 U 71 fHeht A% A Ifed Tt 3 ) W AER I7uTg T 3| e A A Sennfed ot oma § A Frafa | 99 arelht s B weR a1

S TUT § 9 HHW e IUTE Hed § | U 1000 9 H TS AIA B 3T | Ugd HA a1l I 31 HE F1 Y 7g R F5d 1 T ST R w9 6 e &

RSB A IaT & 3BT HIFT STl & | T8 T WEed Ui TUTT & FiTP 309 el 31  Suarey W FRyursit i urawn 3R Iuarswar &1 UdT IadT 81 99 2011 FY

SIOMT & AR YR B 3] 7eg o) 30.15 B oW 3R Afar &7 orqura: iY g9k gout o5t goren & afgansi #Y wen & T srqura weq 1 afe ag sifwet +4
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SN T & 39 YPhd U SIS Ped &1 Ui 1000 S T TP 1A Bt SU | Ugd AR aTdl T=d] B ST Y RRIg] Gy X bgd &1 T8 sifpsT fora-1 o0 8t e &
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ST 8 1 SHERT ST ARl & R FasRy o5t ST SrerT S gt &1 3 oevdd 39 aafey 91 Rigwht 3 affRfy & Srgar gt 81 Sererur & R il v avet F ifa A
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12) 37aT e N & ford AT & SrenT el g1 &1 <Y 91 el U iy & o faeprar &Y et @ 9 fobedt gt & o oft faer 8 9 o_edt A | Sarerur &
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Rra fpeit Sw &1 Fmior ve SHivTula & R faer 6 T@dr €, Afh=1 adl 30 S @lvl & ol - ) anfad giar € o Su 37 & Sadc uhar & fFrepiira fbar
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15) 37eT 3T N & ford AT & SrenT ded g1 €1 <Y 91 el U iRy & o faeprr &Y el @ 9 fobedt gt & o oft faer §Y 9 o_edt Y | Sarerur &
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16) AT g A I wE T6l g9 MFa Afq F AR

St o & af w1 aw R = T d. M 97 HeRa

areer gf ar afr AR F Y fRY e WX uwe

st e g A T w1 B FRE g FwET B SR

T AFA I3 FARAT W T g W F afsr sw
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19) a7y & A o W a6l g9 NP AT F AR
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- I oy & ¥ HF GAoeH @ @ dg H A F @Y W
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la{u‘c‘ﬁaﬁ%m

Correct Answer :-

 HIdcafgd

Yol afdear sreifafevera geaed Yeacal EA -

s qg{dnHWUi faeaded FeraeT |

STyl SIEeY: UIUsdel Gfaer &d: |l

3SETGeT gtruﬁgr AT TU=Icaa |
TRIUhR: qUITT 1A RS ||



Correct Answer :-

6)

Ti=oe UfoScar U2y ?__l,sgd;cdi qIad -

e HITARYT TAGIRUS HETed, SFUIET: Helhel: | T ° el
A eIt Ufdadfd T | 37 Helfdd a6 dll: Il HIerE: A1
HRY: THGHTTA e Shed HehledTIeh i dRIUed safaerd | ddaed
FAAEA F Uica: -8 e7are] AsfAfar: | a everaq a2
Ecdledecdehedliel STFqWelllel | Taafercdl deH SFgwhellial gal | s
difer seificar deT @ R sitcSrq@eeE sisi Taerae ard: | vd
fAcgAg dt aeEAR STETorfAdat [afqurends el daed gu=
fasad: | FisT #hll AT STFqhellial 6 Ical T TITSTA |
HAAITH fGa8 ARGl AF: GoC: - ATy, Fd TSIALeIHdhodT=]
Tellfel WA ? & 3706 - 95, Hed # WAded, TFAAA 71H I=R: | &
WfagafAata wenfa gaesfa | st quifdfeds -a: acamegavmfor
STl thelllel 816TATd T8 gegaeday efasaid | qonf #ar siar
Jdteld dded¥d g6d Aed Uy, dd dd #HaTRicar SIAORTRdr caar
g T $T551 |

TY: Helhel: A -



eellehl afScar NfAfesery Teaed AGHR Faad -

oI sg__t\v{chd-lclui fdeadeed hardeT |

STTEAT SIHY: qIusdel Gfaem & |

~

3TSeTger gTI‘U’rir ATEET IIAGaTH |
WRIGHR: JUITT 19T TS ||

RUHR: JUIT WASAH

R2CIR2)
4. 2

Correct Answer :-



Ui=ae gfecdr Ueaed gagagcdi AT -

fafeeRmaarcmes oRd  @&hadsy  VER:  d@@Ee: 3 |
TafARIGeaRISCIeRRIAaA fhteled shaol d9Isdd SRIfAT: TTGITeT: 3TH= |
W TATFECITAR AT cciISelerieiddd  fohtclee  HAgavee
ACacEEafAdT:  JIeMe: I | IR ISaRGIARYC-
ST lcaNTSerRN T g A e hah oTaT-HEAThRGET: T8 ?»raa—cT ol W
fofeeremash: @1 uAfRERIUGiAfdaiaar | oS Hebll  HglsT

AT THR: Fcd: | TeIdT FEHATT gragrAaierad |
AEpaey W & 3URn: hdedr i UeAlsTAh HARy AU |

apaey Wi fAeAfafeser: @o 3URT: Hoied- FAYAH dEcHERd
ufd elihy 3T SRROTTH, TXpdfe=a yoedisdadl g FeAfer:
TAfdded# | HEHATEAhIEl ddelgiglid shlcdl | TSN HERIATT
TEPITARPHUI A Tel | FEPTISATAAT TATIAT heiedT| faearedy
HETaeITeY T TEpaed RIevEAfAar) wdeas | gfaafadrdemy eﬂﬁr
gareifdd 3Eg a7 e oid | §Epduiye: qcarrqﬁm—m.l
GfARUA  ACdlighdHp T TEPAF  TaFe: Th: Jalded: |
HERAATCHIATHIBAL: FRIROTSIAAT ¥: FEhd TegcdTearar ag=rar o
| siRA¥emfefeeT Mcamfiaan: dredaear: GEhdaasnRd |

3TfYeheemar: gRadstsr &1 f&rfa: A=A



10)

Yol afscar srenfaféver geaed Yeacal A -

TESEAT hledd TeisiEa arfigdar: |
YUTT: FAdQY Usq: W GIRY Y |

qual e gl I deranfen fasadt |
Stigel A8y TURTIEA quieay I

d

afed:
11) .

¢ellehl fScar IrNfAfSsera Yo gl Fadd -
o LAY Taeadee Farde |
STICAY SRIH-E: UIUsdel Gidem &d: |
3TScrIGer gw‘rg ATEET IIA6adH |
YU UATT 1A TS ||

& of Tdadd?

Tosil

1.



WA

2

Correct Answer :-
JANAH
[ -

12)

eellenl afScar srenfafesera yeaed Agecal Faad -

SR PR AUT faeadeet dherde |
STTGAY SREeY: 9IUsdel Gfaer &d: |l

-~

3SCIGer gTrU‘rgr ATEET IIAGadH |
WRIYHR: JUAT qT9F RIS |

STe:” 9eEg faevurueAtEd -



9ellehl Ufdear sreanfafésesy yoaey ﬂagaj,cdi I -

TEISEAN ety VeAsTEa erfergdan: |
YUTS: FAACY e W TRy Y

quaY I gidedr O dereanfeA fastadl |
el HIEAY JURAIREA qUReay |

3716 YUTarsiEA-



u=ae Ifocar U2y ?_J,agdgrdi qIqd -

fofeereamaacares oRd d@Fpasy UER:  @EEe: I |
TafRIGeRTSeIGRRIATH fohtelee, dhael dalsdd S&TfAdT: UIRITe: JIE |
W TATFEICITAR  aacgcciselerRiddd  fotelee  Agrvee?
ArefeaeUwEHHAal:  UIeMe: WA, | I UsHRIGTUehve-
Ardicausereifagsaiaaaer-geaenRaE:  fAem ofed ™ | W
fofceemad: @ gEEREOEAAARar | ds AR FAgedd
IS THN: Hcl: | Telded TEPaTT FAGIATALET |

TEHATT T & 3URT: hdcdl A TRAISTA Ay FaAgUuedd |
aepaey s fAeAfaféser: @of 3R ®etied- FAYAH dracHigd
ufd WPy 3T SRS, FERAfRIaT=T yeieMsIhll i FeAfer:
wafddedd | EEhATEAehlel ddigiglid shledl | ISChINEI HERIATY
AEPATARPHUATAIE Wef | AEPAUTSATAAT TATIAT Shiedr| fdegrerdy
Helfdererdy T T¥ehaed RIGUAAa wcieas | ufaaifararademy 3y
TR 38T [AET07 et aoies | EEpduiive: TAURIdeT: |
CfARUTIRR]  AICAfhdhy o TEPad  TaFeT: Th:  UEIded: |
HERIATChIATHTEAY: HTIRUTSATAT BT T TGl FagaA1ar o
| IIRAIReTiETEeT Wcaiidedr: HEhdaadr: HEhdel@ded |

g sfd Jgta gAY UG HGHEd -




&USHIEAY 3¢ wAlecsiafa-
GRIFARTRAH

FARUTIT A
2. 2 h

_ SICUTG:
IdlcddegeT
4 2

Correct Answer :-

SHARATTTNAH,




Ui=ae gfecdr Ueaed gagagcdi AT -

fafeeRmaarcmes oRd  @&hadsy  VER:  d@@Ee: 3 |
TafARIGeaRISCIeRRIAaA fhteled shaol d9Isdd SRIfAT: TTGITeT: 3TH= |
W TATFECITAR AT cciISelerieiddd  fohtclee  HAgavee
ACacEEafAdT:  JIeMe: I | IR ISaRGIARYC-
ST lcaNTSerRN T g A e hah oTaT-HEAThRGET: T8 ?»raa—cT ol W
fofceremas: @ ufAeUgdfdaiear | a5 #Adlel  HAGIGA
HTEETTNIT: TR $d: | TeIdT TXPTd gragerATaterdd |

HEHAET W & 3URT: hiedl ST TeAlsEAlh HoAey HHeUCA |
apaey Wi fAeAfafeser: @o 3URT: Hoied- FAYAH dEcHERd
ufd elihy 3T SRROTTH, TXpdfe=a yoedisdadl g FeAfer:
TAfdded# | HEHATEAhIEl ddelgiglid shlcdl | TSN HERIATT
TEPITARPHUI A Tel | FEPTISATAAT TATIAT heiedT| faearedy
HETaeITeY T TEpaed RIevEAfAar) wdeas | gfaafadrdemy R
garerfed 3T 8107 3fad ol | EEpduRve: qcarrqﬁm—m.l
GfARUA  ACdlighdHp T TEPAF  TaFe: Th: Jalded: |
HEPTATCHATHATRAY: WROTSAAT ¥: HEpd TegcdIGai1aT Tageiar @
| siRA¥emfefeeT Mcamfiaan: dredaear: GEhdaasnRd |

8¢ dH TohEdIsg TdETed ¢9ee TTSATAT: 3T Sfd 3 3ffarifa-

. EUHiao‘a qus



) HIHeITChdsh Udidied ®YHITOT Aled-
NIER

1.

, G
e
 caree

Correct Answer :-

| T

18)
eollehl UfScar srenfafesesa vyeaey ﬂsga;cdi g -
wﬁssab@ Flead THTSTEH arf%'ﬁ\?fia‘r: |
JUra: zrc‘ﬁz.*gr olec: W TSy chll
quUAT Ieer: giAedr o dereanied fasmast |
Sael qIedY TURTEH TURIY |l
1. %]E‘-:
2. a-q-:
3 3|r€|:
4, iS3E

Correct Answer :-



uR=ade gfdcar yeaed gagagcdi A -

3 FRARTA FHAGIHRUS Fgld FFUCT: Fahel: | TF T IFAAl
AT aert: ufdaafd T | 37T Fefad a8 g all: el HUeHy: A
HAY: FHH A eoTShed FehteAdTeeh el (RIUled wafderd | daed
TFAAEA F Uierd: -8 s1a=] AsfAfa: | dg steraq &g
Ecdlededehedliel STFqWhelllel | Taadcdl ded SFhellial gal | @sfT
difel #&ifcar d= &g O aicSREaesy sdisi Taefael a1c: | vd
e dt aHR SEorAat fafaurerda $rel qaedal @
fasad: | GisfT A ATBITAIOT FTFqwenel ¢ car U YAeSd |
FeMeadH fGa8 AR AR Io¢: - oA, F§ Vaiaeedsddheds
Tellfel YIS 2 & 306 - 8¢, 3d # WRAGed IFdAT A1H qal: | |
ffaqaf@afa werfe saesfa | st qaf@fedd -a: geaFaumrmoT
SERfe Belllel $8TATT a8 EeAHAqHT sffasafd | qonfa &ar smiar
TS dd€ded gad HAed YT, Jof dd seTffcar sRERoRfear caan
e ST #5501 |

STEIhlTel TATERM= 3TTHeT -



eellenl afscar srenfafdsera yeaed AgHc’ FaAd -

TESEAT hledd Tssiea arfigdar: |
YUTT: FAdQY Usq: W GIRY Y |

qual e gl I deranfea fasmadt |
Stiael A8y duRTIEA quieay I

3 37, U9 TUUNTEHA-

Ll
,

3.

. dlc¢]

3ScH

4.
Correct Answer :-



23)

=i Ufodcar U2y ﬂsgdgcdi qIad -

3 REARIT THAGIIRUS Fg, STEqUIGT: TQThel: | T T IFAAE]
AH T Ifdaafd ¥ | 37 Seifad a8 all: ITeedld PeHy: A4
HRY: FHGHTTA e Shed HehleodTIeh i dRIed safaerd | ddaed
FAAEA T UicFa: 87 e7are] AsfAfar: | a everaq a2
Ecdlededehedliel STFqWelllel | Taafecdl deH SFwhellial gal | s
difer sreificar deT @ R sitcSrq@eera sdisi Taerae ard: | vd
fAcgAg dt aeER STETorfAdat [afquremds el daed ga=
fasad: | @i #l ATSIAWIOT STFgwherla I[E ITeal FaUeT TS |
HadH Ga8 AHTdT ARG Yo¢: - A1, Fd VG ddhedT
Tellfel WA ? & 3006 - 95, HRd # WAded, TFAAA 717 IR | 4
difauafaena wenfa gaestd | st qaifdfeds -a: qeardumrioT
seenfa wenfal seafd a& gea@edad sifasafd | dumiy &ar sar d
TdIoTel dded®d gad Aed UITH, I dd HeTcal SFRORTRdT cadr
g N $T551 |

T FeIHFHAAT AfasIfd -



Correct Answer :-

24)

IRTde Ifocar Uy g I -

3T HREART, FHAIIRUS HEle] STFqUIGY: Farhel: | T T IFdAd!
ATH g Ffdaard T | 37 helfad, a8 all: SEdld AIeAg: A
HAY: THGHAANeTShET FehteelaTelhres dRuled wafderd | dded
IFAHE | e -8 s1aTe1 Asfafar: | g seraq &2
Eedlededehedliel STFqWelllel | Taseedl T SFwhellial gal | s
aifel s7eificar de1 @8 R SisSrg@eied sQtsi Taerae ard: | vd
A dt aeaERt SETorfAdl fafqurards Frel daedl gu-
fasaa: | disT #ll ATETALINITOT STFgwhelllel a6 Ical FUce! TITsid |
HAITH Ga8 AT AT AF: Ioc: - AT, F VaIdeIHdHeql
Hellfel WAy ? | 3 - 87, 3T A AGed, FaAW A de: | |
dfagaf@afa worfa waesfad | st qanf@fedd - adaregaumrmor
STl Hellfel HETATT dET TEIAATHT HASTTd | dUMT FHIT AT o
Jdteled ddeded g6d A UIes, dd dd #HaTiicar SeRoRTRdr ar
g AT #5511 |

EAAEEy At FFATHI-



Ui=ae gfecdr Ueaed gagagcdi AT -

fafeeRmaarcmes oRd  @&hadsy  VER:  d@@Ee: 3 |
TafARIGeaRISCIeRRIAaA fhteled shaol d9Isdd SRIfAT: TTGITeT: 3TH= |
W TATFECITAR AT cciISelerieiddd  fohtclee  HAgavee
ACacEEafAdT:  JIeMe: I | IR ISaRGIARYC-
ST lcaNTSerRN T g A e hah oTaT-HEAThRGET: T8 ?»raa—cT ol W
fofceremas: @ ufAeUgdfdaiear | a5 #Adlel  HAGIGA
HTEETTNIT: TR $d: | TeIdT TXPTd gragerATaterdd |

HEHAET W & 3URT: hiedl ST TeAlsEAlh HoAey HHeUCA |
apaey Wi fAeAfafeser: @o 3URT: Hoied- FAYAH dEcHERd
ufd elihy 3T SRROTTH, TXpdfe=a yoedisdadl g FeAfer:
TAfdded# | HEHATEAhIEl ddelgiglid shlcdl | TSN HERIATT
TEPITARPHUI A Tel | FEPTISATAAT TATIAT heiedT| faearedy
HETaeITeY T TEpaed RIevEAfAar) wdeas | gfaafadrdemy R
garerfed 3T 8107 3fad ol | EEpduRve: qcarrqﬁm—m.l
GfARUA  ACdlighdHp T TEPAF  TaFe: Th: Jalded: |
HEPTATCHATHATRAY: WROTSAAT ¥: HEpd TegcdIGai1aT Tageiar @
| siRA¥emfefeeT Mcamfiaan: dredaear: GEhdaasnRd |

yrAfIeTugTa fae7eT TsYIER: 3
Pd:-

AT

1. -~

, T e
el

LT & Fra

Correct Answer :-

. WIS Hehlel



26)

Yol afSear sreifafeveea geaed gacal A -

o glg{chd-lclui faeaded e |

STATCAl SIHY: qIusdel Gfaem &id: ||

-

3TSCIGer gtruﬁgr CATEET dIAGadH |
TRIUHR: JUITT 19T RIS ||

3eiel ST GiaeT $d: -



Ui=ae gfecdr Ueaed gagagcdi AT -

fafeeRmaarcmes oRd  @&hadsy  VER:  d@@Ee: 3 |
TafARIGeaRISCIeRRIAaA fhteled shaol d9Isdd SRIfAT: TTGITeT: 3TH= |
W TATFECITAR AT cciISelerieiddd  fohtclee  HAgavee
ACacEEafAdT:  JIeMe: I | IR ISaRGIARYC-
ST lcaNTSerRN T g A e hah oTaT-HEAThRGET: T8 ?»raa—cT ol W
fofceremas: @ ufAeUgdfdaiear | a5 #Adlel  HAGIGA
HTEETTNIT: TR $d: | TeIdT TXPTd gragerATaterdd |

HEHAET W & 3URT: hiedl ST TeAlsEAlh HoAey HHeUCA |
apaey Wi fAeAfafeser: @o 3URT: Hoied- FAYAH dEcHERd
ufd elihy 3T SRROTTH, TXpdfe=a yoedisdadl g FeAfer:
TAfdded# | HEHATEAhIEl ddelgiglid shlcdl | TSN HERIATT
TEPITARPHUI A Tel | FEPTISATAAT TATIAT heiedT| faearedy
HETaeITeY T TEpaed RIevEAfAar) wdeas | gfaafadrdemy R
garerfed 3T 8107 3fad ol | EEpduRve: qcarrqﬁm—m.l
GfARUA  ACdlighdHp T TEPAF  TaFe: Th: Jalded: |
HEPTATCHATHATRAY: WROTSAAT ¥: HEpd TegcdIGai1aT Tageiar @
| siRA¥emfefeeT Mcamfiaan: dredaear: GEhdaasnRd |

TemelfFd sca 31 wAN: fagga-

. KIIRIEIGR

Correct Answer :-



) ey Wiadar -

Topic:- Social Science (SSC)

1)



Who said that, ‘But in the long run, it would be in the interest of all to forget that there is anything like majority or minority in this country and that in
India there is only one community’. /

foram et f, Afe @8 wag ®, g8 Y@= @it & fRa & ehm 6 53 321 & agua a1 seRiers okt SIS 9w @ ok YRd ® $ad U Tger 8|
1. Abdul Kalam Azad / 3fegdl dTH 3Tl

2. K. M. Munshi / &. T#. i

3. Ayyangar / 3R

4, Sardar Vallabhai Patel / TRER doclslls ueel

Correct Answer :-

« Sardar Vallabhai Patel / TRER declels uee

2) The cycle of micro teaching is: / ATSH AR (Gl Rraom) FTTH %: -

1. Plan — Feedback — Teach — Re-feedback — Reteach / ITSTaT - Qﬁg@ — fRvgyor - gc_-fl;lﬁgf? - gﬂf‘(ﬁ&'TUT
2. Teach — Feedback — Reteach — Plan — Re-feedback / frayor — cr%gf@ - W&TUT - AT — gﬁm
3. Plan — Teach - Feedback — Re-plan — Reteach / TV - fRIefor - ufagf® — graform — gAffemor

4, Teach — Reteach — Feedback — Re-feedback / TRI&UT - ‘fﬁﬁf&‘m - m -
g ufergf®

Correct Answer :-

* Plan — Teach - Feedback — Re-plan — Reteach / o - e - uﬁg@ - EHQTGHT - Qﬂﬁf&m
3) Who is the exponent of Project method? / TRIYST=T AT 1 gfaares Hler §2

1. F. Froebel / TUW. Shidrel

2. D.W. Allen / &1. 559, Teled

3. John Dewey / S Y

4. W.H. Kilpatrick / 3¢, Td. frertfecs

Correct Answer :-

« W.H. Kilpatrick / 3eeq,Td. fherdfes

4) Which of the following discriminatory taxes did Emperor Akbar abolish in 1564 ? / 1564 # ¥HAE %Y A ArAfaf@d & ¥ Fw
AHTEqOT FT T FATCT FT 3T 42

1. Kharaj / @RSl
2. Zakat / SIohTd
3. None of the above / Sudad & ¥ H15 et
4. Jizya /Glm

Correct Answer :-

o Jizya /Sfomn



Consider the following matches:

1. Ashtapradan Maratha Empire

2. AshtaDiggaja Vijavnagar Empire
3. Navarama Harsha

4. Local Self Govermnment | Chola

[ FrATETaT A4t W BEN 1

1. e HITET HHTTT
2. FeeRIS T’ AT
3. waved k]

4 TUET T TSN | O

1. Only 1,2 and 4 are correct / Fae 1,2 3R 4 & §
2. Only 1 and 3 are correct / Fael 1 3R 3 &er &
3.Only 1,2and 3/ &aer 1,2 3R 3

4. All are correct / T9 Tel &

Correct Answer :-

 Only 1,2 and 4 are correct / &ae 1,2 3R 4 T §

Match the Following rulers with their capitals:

1. Maurva | A. Mathura
2. Pallava B. Pataliputra
3_Chalukya | C. Kanchi

4. Kusana D. Badami

| TArafafaa omast & 3T Tt & g9 fFee w73
1. # | A AW
2. Uverld | B. UrEegA
3. =Te(er | C. wisr

4. guror D. arerHAT

1. 1-A,2-B,3-C,4-D
2.1-A,2-C,3-B,4-D
3.1-B,2-C,3-D4-A
4.1-C,2-B,3-D, 4-A
Correct Answer :-

« 1-B,2-C,3-D,4-A

7) is a scoring tool created for assessment of student’s performance in any area, including curricular subjects, curricular activities, and social
and personal qualities. /

3 et oft & & BT F W= & S F Y T T WBIN g 7, R ureushy favy, urenayt wedt nfafaftmt ok arie e safdmra qor
gfwfera g1

1. Rating Scale / If&ar Thet

2. Rubric / &

3. Credit Consideration /3T 35T

4. Excel / Togol

Correct Answer :-

« Rubric / fow



8) The English East India Company was abolished in the year ./ i $w EfEar Uit &1 9 o JHT B o mar uni

1. 1859
2. 1860
3. 1858
4. 1867
Correct Answer :-

e 1858

9) The lowest level of learning in cognitive domain is: / TJFTH® ST ¥ Siftrm &1 e W @: -
1. Knowledge / <t
2. Understanding / HHSA

3. Creation / gsiel

4. Application / H@W?T

Correct Answer :-

» Knowledge / <

10) People’s Plan was advocated by whom? / fiUeq Talel #I gohTad fFas ganrt #r a1 o
1. Mahatma Gandhi / FEcHT Iy

2. Narayan Agarwal / ARTICT 3{IdTel

3. Jayaprakash Narayan / STIUHIRI ARTIOT

4.M.N.Roy /Ud. Td. g

Correct Answer :-

« M.N.Roy/Ud. Td. T

11) Select the correct statement.
1.Champaran Satyagraha was the first Civil disobedience Movement under leadership of Mahatma Gandhi.
2. This Satyagraha was against the exploitation of tenant farmers in North Bihar.
T FYT FT TIT F.
1. IIRCT HAWIE AGTeAT M & Aiqfed # Igen AT NI HEra=T ATl
2. g AnE 3R R # fRer framEl & avor & @are i

1. 1 and 2 both are correct / 1 31X 2 =1 T8 &
2. 1 and 2 both are wrong / 1 31X 2 1T ITeld &
3. Only 2 is correct / PaT 2 e &
4. Only 1 is correct / e 1 TeT &

Correct Answer :-

« 1and 2 both are correct / 1 3R 2 g1t FEY &
12) When was UN Commission on Human Rights established? / ¥g&a ¢ AaifsR 3ART Y TUT9T Fa [l
1. 1946

2. 1950



3.1949
4. 1948

Correct Answer :-

« 1946

13) In which year was the Reserve Bank of India established? / ARAT Rad dF Y TU9=T Fg 9 7 s off?
1. 1946

2.1935

3.1950

4. 1949

Correct Answer :-

« 1935

14) In 1837 who deciphered the brahmi script referring to ‘Devanam Piyadasi’ the epithet used for celebrated monarch Ashoka? / 1837 #,

gl sEdt AT & Rf@a gae e § [ g f 75 3R GeaaiT Ruew’ &1 7rd [
1. None of the above / 30w 3 ¥ Pl el

2. Alexander Cunninghum / 3TeleFoisY ®fgal

3. James Prinsep / 30 AT

4. V.A.Smith s @0, AT

Correct Answer :-

« James Prinsep / 5iog T

15) Who established Mukti Mission for young women in Pune? /T-I'T ) gﬁﬁﬂ’l’ & fav ﬂ'ﬁ?—l’ e 1 Ty fhas f?
1. Jyotibha Phule / SAAHT Fol

2. Pandita Ramabai / Gf2dT IaTeS

3. Ishwar Chandra Vidyasagar / $4% dg faamamR

4. Savitri Phule / |l $of

Correct Answer :-

« Pandita Ramabai / Uf3d GTI'JI%’

16) Who has the power to dissolve the Lok Sabha even before the expiry of its term on the recommendation of the Prime Minister? /
weTeHAl Y RGN W FEFE FATCd g § e & AFHeT B T F f AfFd frwd g g 82

1. President / Irgufa

2. Speaker / 31eT8T

3. Cabinet / #f3Fse

4. Supreme Court / Hafea =amarerd

Correct Answer :-

« President / Tgafa

17) Earlier Pallavas were feudatories of which dynasty? / Jgd Tedd fhd I & FHT A?



1. Satavahanas / GTddlgel
2. Cholas / dTel

3. None / aﬂ's? F@f

4. Kusanas / UTOT
Correct Answer :-

o Satavahanas / HIddl&ed

18) Saptanga Theory of State was propounded by which of the following texts? / T T HTATT ﬁ{%ﬂa @ & ¥ B gy CanT
Ty fFar o= ar?

1. Rajtarangini / ISTaR 310t
2. Arthasastra / 3TRITE

3. Manyusmriti / EFIF_R-?{ﬁ
4. Raghuvamsam / T%??D-T\

Correct Answer :-

« Arthasastra / 3TRIM&E

19) Under which Act of the Government of India the unfair trade practices are included? / ARd AIHR F g 3RfPEw F ded Hﬂﬁﬂ'
SR gU13T FY nfAer Far = 2

1. Money Laundering Act / #lt alifegar 3rfafazess
2. MRTP / TH3RE

3. FEMA / %a1

4. FERA /51

Correct Answer :-

« MRTP / THIRET

20) Under which dynasty did the Mathura School of Art prosper? / fF® a7 & dgd HAYA FHell ﬁayﬁm’ oAy §'3TI'?

1. Kusana / %uIUT
2. Gupta / 94
3. Sunga / Qi'JT

4. Maurya / E:ie)

Correct Answer :-

+ Kusana / $uTOT

21) The individual has the right to approach the Supreme Court or High Courts for the protection of his/her Fundamental Rights as they
are ./

et e 1 3 A FRERT A T & R wafor ST A FoT ST F gE w eR ¥ ity §
1. Accessible / 3if@aer
2. Justiciable / =araifaa
3. Justifiable / addea

4. Affordable / agair

Correct Answer :-



« Justiciable / =mfaa

22) The formed as the basis of the Second Five Year Plan aimed at promoting regional equality. / i gAEar AT & &
35T ¥ g YaadiT A9 & YR W &1 a5 fFam T

1. Industrial Policy Resolution 1948 /3 NS Gwea 1948
2. Industrial Policy Resolution 1951 / 3itfaiws Hf3 dwew 1951
3. Industrial Policy Resolution 1956 /m Hfa gpea 1956
4. Industrial Policy Resolution 1977 /m Hifa gpea 1977

Correct Answer :-

« Industrial Policy Resolution 1956 / 3i¥fes A dweu 1956

23) Which was the first state to adopt Panchayat Raj System in India? /

R # GO TS YOI $T H9A qTell T6elT Ao HIT @7 472

1. Maharashtra / #ERTE

2. Madhya Pradesh / #%T ge2r

3. Rajasthan / TGTEATT

4. Andhra Pradesh / 311 ueer

Correct Answer :-

« Rajasthan / ITSTEATT

24) Which is not a step in Discussion method? / PFAfATET & & Fam IR=r=’ fAfer #1 v RoT 7T &2

1. Allocating responsibilities for the conduct of a discussion / Uch gRerat & Farele & fore SeaeRat & sirdea

2. Working together to find ways of solving the problem / THEIT &l &l el &b dALIh Wialel oh ToIT fHTRT PHIH HIAT
3. Locating and defining problem of common interest and significance / AT ¥ 3R Hgcd DI FHEAT AT TdT FINAT IR TRATRIT e
4. Finding final solution for the problem / JHXT &1 3ifaw B JATd hIAT

Correct Answer :-

« Finding final solution for the problem / JHXT T 3 9 I1d BT

25) Which Veda contains Gayatri Mantra? / @ 3¢ & st #=x wafea &2
1. Sam Veda / OTH dg

2. Rig Veda / F a_aa
3. Yajurveda / ?JG_Jﬁ'CT

4. Atharva Veda / 37adde

Correct Answer :-

« Rig Veda /% e

26) Which is the most important primary source for the study of Indo Greeks? /

$3 efadl & reaas & v wad Ageayyt wafAw Wa i @v g2
1. Monuments / AR

2. Inscriptions / fRreTer@

3. Coins / s



4, Literary Texts / ATfgfcad 72

Correct Answer :-

« Coins / @b

27) Which of the following combination plays significant role in the increase of population / Prfaf@a & ¥ Fia a1 TS TAEEAr

geftr # Agcaqol sfAe Memar &

1. Low Death Rate and High Birth rate / o< qcg X 3R 3Tg FeA R
2. Low Death rate and Low Birth rate / o< qcg X IR BT s R
3. High Death rate and High Birth Rate / 3Td g I 3R 3Tg FeF7 I
4. High Death rate and Low Birth rate / 3=d 3cg &I IR BT e )

Correct Answer :-

« Low Death Rate and High Birth rate / foe= #cg X 3R 3=a Sedt &

28) Which of the following is a brainstorming question? / AFafaf@a & & m@aﬁ' e FY AT Y|

1. What suggestions would you offer to protect forests in the country? / &1 3 =T & &1 & forw 31 aFr g gar
2. Explain the concept of “Forests™? / “@ei” &hT ITTYTOT T TITEAT HY?

3. Give five uses of forests? / Tt & TIT SUTIT IATT

4. Describe the forests of Madhya Pradesh? / #ET UM & STl T quie

Correct Answer :-

« What suggestions would you offer to protect forests in the country? / &1 3 AT & T&TT & forw 31 aFr g&ra &
29) Which of the following is not an objective of group discussion? / ﬁ'ﬂmﬁ A a1 ai=at HHE DI TS 33?’%2'[ EEl %?
1. Promoting self-study / ¥T-31¢TTT &l TETAT Gedl

2. Encouraging creative thinking / TTelTcaTeh AT Pl WA et el

3. Stimulating reflective thinking / ide1eirer fidet @1 safera aweam

4. Testing previous knowledge/ TS T BT ULI&M0T HAT

Correct Answer :-

« Promoting self-study / Td-31CIIT T IETAT ST

30) Which of the following texts discuss paintings / murals? / %= & @ Fia-ar 7y =t/ @fr = & 99t Far §2
1. Vishnu dharmottara Purana only / dvaef ﬁl’EUI gafeR groT

2. All of these / 53U Fafr

3. Shilpa Sastra only / del Tredr AEF

4. Kashyapa Shilpa Sastra only / hdel &Jq fredr e

Correct Answer :-

« All of these / 3U® HfY

31) Which of the following does not apply to a Social Science text book? / fFaifaf@ra # & Far wrfors farawmar 1 v wew qFas W Ay et
gard?

1. It is a document to be memorized. / I ATg JW dTelT Ueh &&dTaol %



2. It is an instructive document creating scope for further reading. / I% Teh TRI&TIUG GTATIST & SIT 39T Uge hl UJ;GTIEQT Yeraarg
3. It is perceived as a dynamic document. / Y T AT GEATdST & &®J H ATAT ST &

4, It is applied for the welfare of mankind or for the destruction of humanity. / & HTId ST B HEATIT & [oTT AT ATAAAT o Ta=ATr & forw FI'I?IﬁFEIT
ST &1

Correct Answer :-
« Itis a document to be memorized. / T& ATE TWeT AT Teh ST %

32) Which of the following is the technique of collecting all sorts of necessary information about a child with a view to studying and solving his
deep-rooted problem? / Ue S #T AT FHToATS g8 F4ot 1 ATy F waeh # 30 vy 7 Wit 3o gaad vy et 1 el Toearfaif@a
AIFME

1. Case study / i 3regaa
2. Experimental study / 9I¥TcHh A
3. Qualitative study / I[0TlcHD I

4. Quasi experimental study / 3 U e 3T

Correct Answer :-

« Case study / TITh 37T

33) White revolution is associated with ./ Q¥a #ifa
1. Salt / AHAD

2. Sugar / @Y

3. Milk / g4

4, Rice / drder

Correct Answer :-

« Milk /gy

34) Under which movement the rich landlords/farmers were asked to donate a piece of land to the landless people? /
e sl & aea 3R SEert / framat w1 e ot A sefle F1 v oSt e F F AT Fer AT an

1. Bhoodan movement / H@Ied 3iarelet

2. Cooperative movement / HEHIRAT 3icrelel

3. Consolidation of land / #f &1 THHIOT

4. Chipko movement / fRrge! 3ficter=

Correct Answer :-

« Bhoodan movement / $gTeT 3fiarelel

35) Choose the conventional sources of energy. / 391 & IRuR® ¥l # gfw
1. Natural gas / rpfae 3

2. Solar energy / ®R ol

3. Bio-energy / 31 Falt

4. Wind energy / Gael Foit

Correct Answer :-

+ Natural gas / urpfae 3



36) Whose assent is necessary in the enactment of a bill into law? /
T A FeE § st w@ § Fed weala smaeas e 87
1. President / Trgufa

2. Supreme Court / 3TIdH AT H

3. Prime Minister / JTe#=T

4. Parliament / T

Correct Answer :-
o President / Trgafa

37) Which Commission emphasized that for solving the diverse socio-cultural problems of the modern world, social sciences have become a significant part of
formal and non-formal education of the modern world? /

e 3T 7 39 A W AR R sy g i Rfty seniSe-wieg s saenst ) ga s & v, aenfas Ree smge g #r sitvaite st
Fasitaaia e F1 vF Agcaqor Rewr oo 2w §?

1. University Grants Commission / frafarera srgera smaar
2. Delores Commission / Selid 31T
3. National Knowledge Commission / IEI |1 31197

4. Commission on Higher Education / 3=a f1aT 3marer

Correct Answer :-
« Delores Commission / SR 39T
38) society is characterized as a male-dominated one. / FHATS I oN-9UTT & & #F RfYT M srar §1

1. Patriarchal / RiqaaTcae®

2. Matriarchal / ATTaATCHD
3. Familial / aTRaike

4. Gregarious /FearT

Correct Answer :-

« Patriarchal / Uq@aTcas

39) The World Trade Organisation aims at ./ T SR WIS F1 3G5T gl
1. Encourage embargo / TIIR-UTRIY &1 Wicarfed &

2. Promotion of imports / 3T &l dgm@r &

3. Free trade / f¥: Qe &@maR

4. Restrictive trade / ST STUR

Correct Answer :-

s Free trade / feV:3[eeh <O

40) The Fundamental Rights in the Constitution were described as a pledge to our people and a pact with the civilized worldby ./
wfaure & #ifew aftwRt #1_ garr e g & wmy wesdar sk e At & v wfaer & w0 F aftta fear

1. Dr. Rajendra Prasad / 3. ITSleg, UdTE

2. Dr. S. Radhakrishnan / 3T. TH. JUTHSOT

3. T. T. Krishnamachari / &. &. gourerariy

4, Sardar Vallabhai Patel / TRER dealdl $TS Uel

Correct Answer :-



¢ Dr. S. Radhakrishnan / 8T. TH. TUTHSOTT

41) An example of a meteorological instrument is: / ATGAVSHY IUPIV HTITH 3601 |
1. Foot rule / IGpr

2. Prismatic compass / s wura

3. Tripod poles /;1%1:1"'5' oot

4. Centigrade thermometer / s atefier

Correct Answer :-

« Centigrade thermometer / TS YFATHIET

42) Who among the following built the Qutub Minar at Delhi? / feweht o o AR &1 fHufor H=ferfaa & @ fea o ar
1. Qutb-ud-din Aibak / HIE-Ie-EH VTP

2. Akbar / 3R

3. Shah Jahan / RIT&wigT

4. Khizr Khan / a9 @i

Correct Answer :-

« Qutb-ud-din Aibak / $IS-3G-4H U

43) To teach a lesson on the boundaries of the country, states and districts, the teacher uses which of following maps? / ﬂ"\’[, 14l R el @t
Hrraeit W T UTe Ug ¥ oy, g Ay o | 6wt o1 SuahT &ver 22

1. Physical maps / sifa® a=faT

2. Relief maps / 3=dTdd EICIGE]

3. Specialized maps / fafre @TafaT
4. Political maps / STl Tcieh HTATAT

Correct Answer :-

« Political maps / ST ATATIH

44) Which of the following statements cannot be considered a characteristic of learning? /

PrRla & F FF Fu9 F 3RH A [FAvar A& AT T FHar 8?2

1. Learning is limited to educational institutions. / 3TTQ9TH A&ITOTH TTATAT Tk HWHT &

2. Learning is a lifelong process. / 37913 Teh 31TsiiaeT Ufthar &1

3. Learning influences all aspects of behaviour. / 3TTITH cITER & THT U%Tg’ﬂsf DI GHTTI BT o

4. Learning depends on physical growth and mental maturity. / 31f97e7 emIRe faera 3R ATARew aRueraar ik AR wwar &1

Correct Answer :-

« Learning is limited to educational institutions. / 3771 QAeTfOTes TEATAT ab MiFT %I

45) The loan facility provided to the farmers for the development of agriculture is known as .

TR & fwm & AT fraE! # gea= # J= areh 7or gl & & T H AT AT B
1. Rural loanable funds / TITSOT 0T ATT HIT

2. Rural credit / omafior FHoT

3. Rural development / Imaor faera

4. Rural advance / JmeioT 3f3a



Correct Answer :-

« Rural credit / ImefioT FHoOT

46) Which among the following soil type has a property of holding moisture for the release of plants during the dry period? / fafafead a
fa fird & vor A g 3afl & SR el & frfa & Rrg aimstar uRor B ®1 g gar @2

1. Lateritic / ﬁéTIS‘(f
2. Red / ©lTel

3. Black / &TelY

4. Alluvial / STellg

Correct Answer :-

« Black / STail

47) The students ability to organize, |ntegrate, synthesize and evaluate knowledge is known through which of the following types of test? /

BET ¥ T B GO, THiPd, HTaRd ok qeaifrd Hea 31 argar Freafifad 9 g 1er $ wheo & arem @ 919 ) o 82
1. Objective Type / 32T YHR

2. Short Answer Type / og 30 Wbk

3. Multiple Choice Type / Elgﬁﬁtﬁ TP

4. Essay Type / @@ yaR

Correct Answer :-

« Essay Type / 69 R

48) The step that is not a part of project method is: / a8 IR0 5l Uf¥aIerT fafts o1 e 78 &:
1. Selection of capital / THTYAT BT TAS

2. Executing the project / TRt o fAvarfed s

3. Providing situation / FEAf 1= &eam

4. Evaluation of the project / RS &1 H™ih

Correct Answer :-

« Selection of capital / THTYUAT T T

49) A famous palaeontological hoax related to the finding of the remains of a previously unknown early human known as Piltdown Man was
found in which of the following countries? / fitesTeT A9 ¥ ¥4 # WM WM T Ugd 3FITd TRAIP AIE P TN $1 Giel A Hafdrd T TS
Nafyeta siwr (Fa<tarensd gie) ot & & fora 3= & urar mar ur?

1. France / W8

2. Australia / 3iTeeforar
3. England / 90i3

4. Germany / ST

Correct Answer :-

« England/ 37ol3

50) The learning strategy that helps the leaner to gain from each other’s effort is: / 3T YUFAY <t Rremdf &Y ve gk & var I @y yre
FA ¥ Heg Heel @

1. Brain storming / ¢ S3ASTh (ao_‘f F\Ey 3 )

2. Case study / g JEIIS



3. Experiential learning / UTATTITes 31&areT
4. Cooperative learning / TgaafT 31fA9TaT

Correct Answer :-

« Cooperative learning / F&aTaf 3ifer

51) What is the upper limit of the Richter scale? / ez 39 &1 Hut Hfar 7 22
1.9

2.10
3. No Upper limit/aﬁ'é U de AL §

4.8

Correct Answer :-

« No Upper limit / 1S FL AT A& &

52) The process of collecting data on student performance that is used to evaluate the attainment of certain expectation,
objectives or outcomes is known as: /

w%ugahwéammﬁaﬁagmmmwar&an,a%@'muhunﬁaﬁuﬁ%qwm%mmm%,ag

1. Evaluating / Fgidnel

2. Assessment / 3TTeholel
3. Scoring / &Y AT
4. Rating / grgar Ay

Correct Answer :-

« Assessment / 3TTchelel

53) The Woods dispatch of 1854 is related to which of the following? /1854 T g5 &1 =ivoryd (F38 fedtw) Peafaf@a & & e wafta
87

1. Introduction of Railways / YoId & UREH

2. Introduction of English Education in India / ¥R & 33 6T & URFH
3. Introduction of the Postal Services / 3Teh TATAT T YRFH

4. Setting up of Universities in India / IRa & faafaarerar & Tamg=r

Correct Answer :-

« Setting up of Universities in India / IR & faafaarerar & sammer

54) IPCC is a body to examine climate change. What is the full-form of IPCC? / ¥Rt Srerary alada it sa F@ ¥ v v fAw™

1 s 1 ot W o §2

1. Intergovernmental panel on climate change / SewgHee Yaer 3T FellsHT Tt

2. International Panel on Climate change / FeIIIel percikic FellsHT ool

3. International platform for climate change study / FeIeIRleTel TITHIa BR FellsHT ool TCaT
4. Inter-panel on climate change / E’;ET-ﬁ?-IT*T 3 FellsHT ool

Correct Answer :-

« Intergovernmental panel on climate change / AT dated Uaer 30 o AT oo



55) Who named the Gulf Stream? / 6% FEH HT ATH Faa w@i?
1. Benjamin Franklin / ST Shepfore

2. Juan Ponce de Leon / SJ31TeT uig &1 feraia

3. Columbus / PIeiad

4. Thomas cook / ATHT Db

Correct Answer :-

« Benjamin Franklin / STt Shepfore

56) Which of the following causes Normal Faults? / fAFafaf@a # @ fFa® FROT THT Biee (37e) g 22
1. Compressional force / TUSA del

2. Vertical Movement / F¢aTer a1fay

3. Horizontal Displacement / &1fcisT faeamaeT

4. Tensional force / dATd-ToT

Correct Answer :-

« Tensional force / delTd-ael

57) Which of the following is an example of renewable energy? / fAFAfaf@d & ¥ &l @1 3610 FoAT (ANFONT FAT) FT TH 3GTEI0T &2
1. Petroleum / ﬁ@ﬁ?ﬂf

2. Coal / Il

3. Natural Gas / UTpfaes 36

4. Solar Energy / ak Far

Correct Answer :-

« Solar Energy / @R Fail

58) Almost all of Iron Ore Production of India is confined to which among the following five states of India? /

HRA & orsrer Al Alg IAEE Ieues Pl # ¥ AR $ Fl § g TeEt aw @ifFa ¥

1. Odisha, Karnataka, Chhattisgarh, West Bengal and Uttar Pradesh / 302, saeds, sxiraers, uf¥e gome 3R 3aX wer

2. Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 30f2m, @aies, i, aMar 3R eREs

3. Odisha, Karnataka, Chhattisgarh, Madhya Pradesh & Jharkhand / 30f3em, @eiee, oaireme, FEaueer 3R sIREs

4. Odisha, Madhya Pradesh, Chhattisgarh, Andhra Pradesh and Tamil Nadu / 30fSam, siecamesr, scirre, 3y ueer 3R affearg

Correct Answer :-

« Odisha, Karnataka, Chhattisgarh, Goa and Jharkhand / 31if32r, e, sxiaers, Mar 3R sREs

59) What is the name of the world’s first Greenhouse Gases Observing Satellite launched by Japan in 2009? / 2009 A ST SART IRFH Loy
T 32T & vger Nee3w A9 ST I9AT FT AH FAT §7?

1. Tadami / dTGEAT

2. Akatsuki / 3TeTcgenT
3. Ibuki / SgehT

4. Hayabusa / @IRITHT

Correct Answer :-



« Ibuki / Feehr

60) Which among the following bodies received Nobel prize for peace for their efforts to build up and disseminate greater knowledge about man-
made climate change, and to lay the foundations for the measures that are needed to counteract such change? / rfafaa & & Fw fem F
#ag fffa Searg Rada & aR & 3f8F § 3fF 7@ & s 3k wr F Qe & QA 6@k 57 w®E & Rada # 1 fosr F@
¥ foT amaeas 3R A dlg @A F v Aaw aify [REER gea fFar?

1. IPCC

2. UNEP

3. UNDP

4. UNFCCC

Correct Answer :-

« IPCC



